Тест
I. Найти f / (x) 

1) sin (2 – 4x)

а) cos(2 – 4x);  б) – 4 cos(2 – 4x);  в) 4 cos(2 – 4x).

2) ln(7x)
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3) log2(x2 – 5)
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4) 5-3x
 а) 5-3xln5;    б) 5-3x(-3ln5);   в) 5-3xln15.
II.     1) Точка движется прямолинейно по закону
               x (t) = 2x2 – 3x + 1. Найти V (2).
  а) 5;    б) 6;    в) 3.
2) Точка движется прямолинейно по закону
     x (t) = 2t2 – 4t + 5. Найти t, когда V (t) = 0.

              а) -4;   б) 1;   в) 3.

III.       Найти f /(x)
                               cos2 (2x)

              а) sin22x;   б) -2sin4x;   в) -4sin2x.

Проверь себя:
I. 
1) б
2) а
3) в
4) б
II.

        1) а

        2) б

III.       б
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